

Sustainable packaging solutions

Huhtamaki

Make the switch to sustainable packaging





Award winning innovation : The Future Smart™ Duo Fiber Lid

Great To Go® is a comprehensive range of high quality environmentally optimal food packaging products from Huhtamaki. All products in the Great To Go range have been carefully picked to give you a choice of packaging products to serve your delicious food and drinks sustainably.

This includes innovative products from our Bioware[™] and Future Smart[™] ranges including those made from surgarcane, sustainably sourced paper and renewable materials like wood, all of which present your food perfectly.

If you are looking for a wide selection, high quality and sustainable solutions, then look no further. The Great To Go range makes it easy for you to switch to a full range of sustainable packaging products.

The range also includes many innovative products which are excellent sustainable alternatives to traditional plastic packaging.



Wooden Cutlery : Premium Wooden Cutlery: Plastic free and fully plant based

Now available easily

From Fiber lids for paper cups to premium wooden cutlery and from high quality fiber plates to food containers you need not look anywhere else to fulfill your packaging requirements. Our supply network and local sales teams are on hand to serve your needs quickly and efficiently.

Good food offers a lot – satisfaction to hearts and minds, wonderful conversations, happy times and memorable moments. With the Great To Go® range of products from Huhtamaki you can give people more reasons to fall in love with food and enjoy their dining experiences. With a wide selection of products, you will find a sustainable packaging solution for every need.



Fiber Containers: Sustainable and plastic free



Fiber Plates: Sustainable and plastic free

Future SmartTM: The Future Smart range of packaging products are made from fully renewable plant-based materials and are perfect options for you to renew your takeaway beverage and food packaging.

BiowareTM: This is our portfolio of certified compostable packaging products made mostly from renewable materials. Bioware products have been designed to minimize their impact on the environment.







- Plastic free material
- Future Smart Duo Lid
- Suitable for enjoying both cold and hot beverages
- Round sip hole allows usage of straw in cold beverages
- Made with natural fibers
- Natural fibers are recyclable
- Excellent lid fit for Huhtamaki paper cups
- Unique Huhtamaki design using the best technical knowhow to ensure perfect functionality
- Available from January 2020

Additional sizes/styles available

Future Smart[™]



S01080

Fiber lid 80mm

Bagasse and wood fibers 80mm 60 pcs/pack 30 packs/carton 1,800 pcs/carton



S01090

Fiber lid 90mm

Bagasse and wood fibers 90mm 50 pcs/pack 24 packs/carton 1,200 pcs/carton



S01063

Fiber lid 63mm with sip hole

Bagasse and wood fibers 63mm 50 pcs/pack 40 packs/carton 2,000 pcs/carton



S01064

Fiber lid 63mm without sip hole

Bagasse and wood fibers 63mm 50 pcs/pack 40 packs/carton 2,000 pcs/carton



- Future Smart food containers
- Plastic free containers with hinged lids
- Excellent sustainable option for food packaging
- Made with natural fibers
- Natural fibers are classified as one of the world's most rapidly renewable resources
- Natural fibers are recyclable

Additional sizes/styles available

Future Smart[™]



S01007

Fiber Burger Box 15 x 15cm

Natural fiber 15 x 15cm Hinged Container 50 pcs/pack 12 packs/carton 600 pcs/carton



S01008

Fiber Meal Box 22 x 15cm

Natural fiber 22 x 15cm Hinged Container 50 pcs/pack 6 packs/carton 300 pcs/carton



S01009

Fiber Meal Box 22 x 20cm

Natural fiber 22 x 20cm Hinged Container 50 pcs/pack 4 packs/carton 200 pcs/carton



S01011

3-Compartment Fiber Meal Box 23 x 20cm

Natural fiber
23 x 20cm
3-Compartment Hinged
Container
50 pcs/pack
4 packs/carton
200 pcs/carton

*Please contact us to find out more about our sustainable range



- Future Smart plates and bowls
- Plastic free
- Excellent sustainable option for serving food
- Made with natural fibers
- Natural fibers are classified as one of the world's most rapidly renewable resources
- Natural fibers are recyclable

Additional sizes/styles available

Future Smart™



S01003

Round Fiber Plate 17cm

Natural fiber 17cm Plate 50 pcs/pack 20 packs/carton 1000 pcs/carton *Other sizes available



S01006

Oval Fiber Plate Large

Natural fiber 26x20cm Oval Plate 50 pcs/pack 12 packs/carton 600 pcs/carton *Other sizes available



S01015

Square Fiber Plate 16cm

Natural fiber 16cm Plate 50 pcs/pack 10 packs/carton 500 pcs/carton *Other sizes available



S01002

Round Fiber Bowl 16oz

Natural fiber 16 oz (500ml) Bowl 50 pcs/pack 16 packs/carton 800 pcs/carton *Other sizes available



- Future Smart Wooden cutlery
- Made from renewable resources
- Sturdy and handy
- Made with wood from FSC certified sustainably managed forests
- Huhtamaki range includes a selection premium coated cutlery options for further improved eating experience
- Cutlery available indivually wrapped with paper eliminating the need for plastic packaging

Alternative cutlery items available

Future Smart[™]



S02001

Wooden Knife

Birchwood 165mm Length 250 pcs/pack 10 packs/carton 2,500 pcs/carton *Other sizes available



S02002

Wooden Fork

Birchwood 160mm Length 250 pcs/pack 10 packs/carton 2,500 pcs/carton *Other sizes available



S02003

Wooden Spoon

Birchwood 160mm Length 250 pcs/pack 8 packs/carton 2,000 pcs/carton *Other sizes available



S02009

110mm Wooden Stirrer

Birchwood 110mm Length 1000 pcs/pack 20 packs/carton 20,000 pcs/carton *Other sizes available

Wrapped Wooden Cutlery

Features and Benefits

- Future Smart Wooden cutlery
- Made from renewable resources
- Sturdy and handy
- Made with wood from FSC certified sustainably managed forests
- Huhtamaki range includes a selection premium coated cutlery options for further improved eating experience
- Wrapped with paper eliminating the need for plastic packaging
- Wrapped cutlery provides safe and hygienic way to serve food

Cutlery sets also available to order

Future Smart[™]



S02041W

165mm Wooden Knife Wrapped

Birchwood 165mm Length 500 pcs/pack 1 packs/carton 500 pcs/carton *Other sizes available



S02042W

160mm Wooden Fork Wrapped

Birchwood 160mm Length 500 pcs/pack 1 packs/carton 500 pcs/carton *Other sizes available



S02043W

160mm Wooden Spoon Wrapped

Birchwood 160mm Length 500 pcs/pack 1 packs/carton 500 pcs/carton *Other sizes available



S02040W

110mm Wooden Spoon Wrapped

Birchwood 110mm Length 500 pcs/pack 1 packs/carton 500 pcs/carton *Other sizes available



S02038W

140mm Wooden Stirrer Wrapped

Birchwood 140mm Length 10 pcs/pack 1,000 packs/carton 10,000 pcs/carton *Other sizes available



S02039W

178mm Wooden Stirrer Wrapped

Birchwood 178mm Length 10 pcs/pack 1,000 packs/carton 10,000 pcs/carton *Other sizes available





Item codes	Product type	Pcs/Carton
S02001	165mm wooden knife	2500
S02002	160mm wooden fork	2500
S02003	160mm wooden spoon	2000
S02008	90mm stirrer	20000
S02009	110mm stirrer	20000
S02010	140mm stirrer	10000
S02011	178mm stirrer	10000
S02007	96mm teaspoon, coated	5000
S02004	185mm wooden knife, coated	2000
S02005	185mm wooden fork, coated	2000
S02006	185mm wooden spoon, coated	2000
S02015	120mm snack fork, uncoated	10000
S02012	Cutlery set, 165mm knife, 160mm fork (coated) and napkin	250
S02013	Vendable stirrer 90mm	20000
S02014	Vendable stirrer 105mm	20000
S02016	165mm wooden knife, coated	2000
S02017	160mm wooden fork, coated	2000
S02018	160mm wooden spoon, coated	2000
S02027CW	4/1 Cutlery set coated, 165mm knife, 160mm fork and 110mm coffee spoon & napkin	250
S02028	110mm teaspoon	5000
S02026C	110mm teaspoon, coated	5000
S02029C	95mm Ice cream Paddle	5000
S02031	165mm wooden knife	2000
S02032	160mm wooden fork	2000
S02033	160mm wooden spoon	2000
S02034	85mm snack fork	
S02035	110mm stirrer in display box	20000
S02037W	Wooden stirrer 110 mm, wrapped	10000
S02038W	Wooden Stirrer 140 mm, wrapped	10000
S02039W	Wooden Stirrer 178 mm, wrapped	5000
S02040W	Wooden Coffee Spoon 110 mm, wrapped	1000
S02041W	Wooden knife 165 mm, wrapped	500
S02042W	Wooden Fork 160 mm, wrapped	500
S02043W	Wooden Spoon 160 mm, wrapped	500
502044C	Wooden Fork 125 mm, coated	5000
502045C	140 mm wooden spoon, coated	
Item codes	Product type	Pcs/Carton
501090	CP12LID W 90mm (Fiber lid)	1200
S01090 S01080	CP8LID W 80mm (Fiber lid)	1800
S01060 S01063	CPLID W 63mm with sip hole (Fiber lid)	2000
S01064	CPLID W 63mm no sip hole (Fiber lid)	2000
	CPLID W 73mm with sip hole (Fiber lid)	2000
	CPLID W 70.3mm with sip hole (Fiber lid)	
S01001	12 oz (350ml) Fiber bowl	800
S01001 S01002	16 oz (400ml) Fiber bowl	800
S01002 S01003	17 cm Fiber plate	1000
S01003 S01004	22 cm Fiber plate	600
S01004 S01005	25 cm Fiber plate	600
S01005 S01006	26cm x 20cm Oval Fiber plate	600
S01000 S01007	15cm x 15cm 1-compartment Fiber Meal Box	600
S01007 S01009	23cm v 15cm 1 compartment Fiber Meal Pov	300

300

200

200

3000

3000

200

500

500

500

23cm x 15cm 1-compartment Fiber Meal Box

22cm x 20cm 1-Compartment Fiber Meal Box

23cm x 23cm 3-Compartment Fiber Meal Box

23cm x 23cm 2-Compartment Fiber Meal Box

45ml Fiber dip cup

45ml Fiber kraft dip cup

16 cm Fiber Square plate

20 cm Fiber Square plate

25 cm Fiber Square plate

S01008

S01009

S01011

S01012

S01016

S01019 S01015

S01014

S01013

Huhtamaki Foodservice Germany Sales GmbH & Co. KG Bad Bertricher Str. 6-9, D-56859 Alf Germany www.foodservice.huhtamaki.com

Tel.: +49 (0) 6542 802 0 Fax: +49 (0) 6542 802 139

